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e 5 *
No. T % 4 7| $E & | i
B ER G v ¥ — s T8
HAGER T v & —

1 HEELFEE =X 1 11, 720, 120
2 JiEfREk =X 1 623, 264
3 B F2V 1 4,081, 324
4 TR = 1 2, 568, 824
5 &RIHER =X 1 -3, 532
THFlifEFt (1+2+3+4+5) 18, 990, 000
THEBAH 2 4 % | 10.00% 1, 899, 000
T # & 3 20, 889, 000




Bom &
No. T *x 4 Bl BE | B % T F B fisi
HEEERT ¥ —RETHE
HEEIR R ¥ —
[EH: T
O |HIEEIERT v ¥ — e T (F5) 52V 1 7,120, 320
@ |HIEEIERTE ¥ —S%ETH ER) F2V 1 2,135,180
@ |HIEEIRRTFE v ¥ — & T () F2V 1 2, 464, 620
HETHEYE 5 11,720, 120




No.

% PR A = B & H AL i | & W
\®$1‘§i§$£§%§$’z:/§?~ﬂ&ﬂ%1$(§$%)
1 R 3%
#® & R EEE PERE 82.0 nf 320 26,240
# & e 415.0 nf 200 83,000
#® A& R 56.2 nf 120 6,744
B H I i REEEE NEKE 82.0 nf 1,200 98,400
H TG WEES e 415.0 uof 800 332,000
HE TG BB B 56.2 nf 400 22,480
FHL B IE 82.0 nf 160 13,120
NER AT R JEISE 497.0 uof 460 228,620
1-5F 810,604
2 Rt
(N H#B)
KBS t=55 10.0 K 750 7,500
AfH=125
PR S t= 12t 22.3 uof 4,320 96,336
PRAHLAE
R R ES t=5.5 6.9 nf 4,320 29,808
T ANARLvm3
RT ARANRE =42 A A2 58.0 uof 5,940 344,520
HE AR H=175 37.2 m 310 11,532
A B 13.1 nf 2,340 30,654
Bemoixiis 17.2 m 220 3,784
AR B HAf R 1.4 nf 2,700 3,780
R iES 4.5 nf 2,160 9,720
AN i S W=300 L.=1800 1.0 Vel 16,200 16,200
WA T 2 — s W=400L =3700H =895 1.0 Vil 32,400 32,400
7B B 7.8 o 2,160 16,848
SRR L 1.6 nf 3,240 5,184
AREBEY 30.3 m 540 16,362
B E s 20.6 m 990 20,394
FHFER 5.2 m 1,300 6,760
[ERES H=3000 2.0 %N 16,200 32,400
BIL I ES 10.9 m 1,080 11,772
BaEEE 10.4 m 1,080 11,232
Z AT — )V B H950 W650 11500 1.0 Vil 12,900 12,900




No.

4 b ) w oo & RN fli | & T

AT AT — L B H950 W650 L1800 1.0 Vil 16,200 16,200

Al bRk H370 W400 L1500 1.0 Vbl 8,100 8,100
H7 2 — EAREUY I

[Al_ AR 800 X 800 1.0 ik 12,900 12,900

AR E 10.2 m 1,080 11,016

a0 H 6007 FHid

BETF KA H B4 7 AR AR Lym3 1.0 2 24,800 24,800

O H 6007 FHid

BETF KA A7) 3.0 s 10,800 32,400

2 YY— Iy H— 63.3 m 4,320 273,456
2 7)—hW=120

[l (B0 B s 22.4 ot 18,300 409,920

R t=12 GLI%

HEBR—FE 7 AR ZRLvm3 50.4 nt 6,480 326,592

B t=4.0

Ak 2.3 of 1,620 3,726

fE

v =— L ru Ak 2.5 nt 430 1,075

fE

M R R T Hi 2.5 nt 7,560 18,900

B t=12

HEBR—FE 7 AR ZRLvm3 2.5 nt 4,860 12,150

Kt t=9.0

(LA B R — 7 AR ZARLvm3 10.6 nt 4,320 45,792

Kt t=9.0

(LHEAR B A BR— Rk 7 A~XARLvm3 22.3 ot 4,320 96,336

Kt t=3.0

Ak 2.3 of 2,700 6,210

I EEkE K s AR NEAE A 10.6 ot 2,160 22,896

v =— i 1.0 nt 540 540

Kt t=9.0

HEBR—FE 7 AR ZRLvm3 1.0 nt 5,400 5,400

AR I P Hii s 0 ARV NEEAFf T 25.6 of 3,240 82,944

TARANRZE TR 1.0 = 756,000

AT IR FE |7y —arver M 1.0 = 61,000

2-#t 2,948,439

BEM LSy

BER T A3 A S ) —h 3.1 m3 5,400 16,740

FEM FE A et &R 5.4 m3 5,940 32,076

BER i A3 A S A 4.2 m3 4,320 18,144

FEM FE A et REH 0.6 m3 5,400 3,240

BER i A3 A S SR IR A M 0.1 m3 5,940 594

BER i A3 A S TARANEM  Lvm3 2.5 m3 59,400 148,500

BER 2Ly ) —h 3.1 m3 3,240 10,044

BER 2Ly &R 5.4 m3 -9,720 -52,488

BER 2Ly A 4.2 m3 9,720 40,824




No.

4 b ) P BB HAL HEOfh | & T

BEM Ly IRAH 0.6 m3 16,200 9,720

BEM Ly Balililexz) 0.1 m3 21,600 2,160

BEM WLy T ANANER  Lvm3 2.5 m3 54,000 135,000

3-2F 364,554

g

(N6

RE=—L i —h t=2.0 85.3 ot 2,590 220,927

RENL VAT t=28 22.6 of 2,840 64,184

HEmA H=175 28.3 m 370 10,471

IR FLEE) SUS W=5 16.3 nt 2,850 46,455

HWemvik 30.5 m 520 15,860

) — NEERL R Oy

IR AHifE W= 150F2% 14.1 m 4,290 60,489

BE T

ARG 25X 75 5.2 m 5,150 26,780

B EERS

AR 25X 100 15.6 m 5,980 93,288

T EEERS

AR 25X105+25 X115 12.0 m 8,460 101,520

T EEERS

AR 25X 60 8.4 m 4,320 36,288

RIEARTE ) e

ARG 25 X 60 3.6 m 4,320 15,552

BEfF A IR &

ARG 35X 110 1.5 m 6,810 10,215

BEfF A LI &

ARG 25X 147 1.5 m 6,810 10,215

WD-1

A B 40X 100 4.7 m 6,810 32,007

WD-1

[F]_-%Eif% 25X 80 4.7 m 3,680 17,296

SS-1

RAE% 25X162 6.8 m 6,160 41,888

RIERRTE )

KRGk 25162 2.8 m 7,640 21,392

TR E W=25 4.5 nf 6,780 30,510
f1 VAL - B D AR g

KIS 7 ILIFE600 4 5.0 Vil 7,570 37,850

B BEAF T

LER—RELEY t=12.5 45.9 nf 1,220 55,998

B

AR 15X 40 @455 2.3 ni 2,000 4,600

B

HBER—RAED t=12.5+12.5 16.9 nt 2,470 41,743

B

R EERE AL T W=100 @450 8.1 ni 2,570 20,817

B

E=—Lrax 49.4 ot 1,050 51,870

R

AER—RHEE L 62.8 nt 580 36,424
5 1.5mAT

IR R T Hh 197 @225 33.7 nf 1,860 62,682

Kt t=9.5

(L¥EaBR—K 33.7 nf 1,530 51,561




No.

4 b A s BB HAL HEOfh | & T
MS-2 (ZEk Y2 5R)
ROvkzmn s —i 7 15X 10 20.8 m 610 12,688
i) FEHZLHW B
KN EP Bf# 13.5 nt 1,450 19,575
FHTUSWATE
NGB ORI Al 27.8 m 690 19,182
FHTUSWATE
ARG ORI 6.3 of 2,100 13,230
Fy7 B — W600 14880 1.0 Vabil 78,300 78,300
Az A H2000 W700 1.0 Vil 60,800 60,800
Al EBOFF JEH 1.0 = 25,200
r—AftE FERX
IATTIN oy B — H1500 W4610 1.0 Vabil 1,093,300 1,093,300
[F] ARk 1.0 = 169,000
Al EEfF 1.0 = 47,300
T 1.0 = 34,200
[Fl_RikERA] 1.0 2" 24,800
REEAF T HigRE 60.6 of 1,110 67,266
47t 2,883,723
HAhfE
AP.3t A TV xvh
ZEPA 1800 X 900mm At 1.0 T 113,000 113,000
5-3t 113,000
OREERmRTFE Y —RETF () 45 7,120,320




No.

% PR A = B & H AL i | & W
\@)i{‘%iﬁ;ﬁiﬁ%ﬁ@/&—ﬂ&ﬂzii(@é’i)

1 EBATRR AN TR
RYTF L ifffgk et EM-IE 5.5s5q (77 —3) 3.0 m 780 2,340
RVxFL oy —27—7 )L EM-CET l4sq (&) 4.0 m 2,780 11,120
R)TFL o —R7—7 )0 EM-CET l4sq (Fv7) 46.0 m 3,110 143,060
TE e = LM VE 54 (# &) 1.0 m 7,640 7,640
Bifg 3R 1.0 = 2,290 2,290
BT 5y M (L-1) SRR R A 1.0 ] 277,000 277,000
BEAABG K X B i Al | 7> 27 (W=400) 3.0 DT 13,600 40,800
BEAFRNF o — o e AT IR 1.0 N 185,000 185,000
BRI LA LR VE 1.0 N 30,000 30,000
-3 699,250

2 EATRRAW AT 536
R)TFL v —R7—7 ) EM-EEF 1.6-2C (KH:HN) 3.0 m 590 1,770
R)TFL v —R7—7 ) EM-EEF 1.6-3C (KH:HN) 10.0 m 800 8,000
A F Ry I A (VE) HA 1A 1.0 1 4,650 4,650
AR »F 1P15AX 1 1.0 &l 2,770 2,770
MR A LRS3-4-65 3.0 =) 32,400 97,200
BEAF— REIRSN LI U
JSUEF AN HHAR FL20W X 1 1.0 A 12,400 12,400
22 RS 1.0 =) 61,800 61,800
[ b= ha— L AT 1.0 1l 6,700 6,700
2-%t 195,290

3| BTN 2B My
RYx=FL o —247—7b |[EM-EEF 2.0-3C (&) 33.0 m 1,190 39,270
R)TF L —A7—7 v EM-EEF 2.0-3C (KIHN) 101.0 m 1,000 101,000
E e = LR VE 54 (% Hifd) 1.0 m 7,640 7,640
Bl SR e 1.0 X 2,290 2,290
14 SR OF AB e —)L AT 10.0 m 3,770 37,700
DRSSP =1 Al a—F—Ry IR 4.0 5,050 20,200
DRSSP =1 A Val Ny TV T 4.0 80 320




No.

4 PR W FaS BB HAL o & B

Al L A3 )& dh AL Ty 4.0 i 60 240
AL A AR 2w TRy 7 A (ERIER) 4.0 1 5,220 20,880
1B RO AHLE—/L BRY 5.0 m 5,000 25,000
AL A BA o —F—Ry s A 2.0 1 5,360 10,720
AL A BA! VaA Ny TV s 2.0 1 140 280
Al L A3 )& dh B 7y 2.0 i 90 180
AL A BA AA v TRy A (GERL2AH ) 1.0 1 5,590 5,590
AL A BA AA TR ys A (AL ) 1.0 1 6,350 6,350
VAN (VE) Hhpafhy @RS —ft 1.0 1 4,630 4,630
TRy Ry 7 A (VE) U4 ST /S —FF 1.0 i 4,710 4,710
HhAT R 2P15A X 2 1.0 i 2,810 2,810
SEIABE T BRI 2PISABS) X 2+ET X 1 3.0 i 3,670 11,010
SEABE R A BRI 2PISABS) X 2+4ET X 1 258 1.0 i 5,860 5,860
SEABE A BRI 2PISABS) X 2+4ET X 1 338 1.0 i 8,250 8,250
o T4 BEa T #i%x ¢ 25 (RC D=150) 1.0 DT 9,170 9,170
BEAF— I U B PRI A

HhAT R 2P15A X 2 2.0 i 3,300 6,600
HiAgE =B b 2P15A(ER}) X 1 (250V) 1.0 i 4,100 4,100
3t 334,800
PN 1T 0B 15 AR A

UTP7—7 )L EM-UTP CAT6-4P (%' /9) 39.0 m 690 26,910
UTP7—7 )L EM-UTP CAT6-4P (5v7) 152.0 m 820 124,640
UTP7—7 )L EM-UTP CAT6-4P (KF/H) 225.0 m 570 128,250
1FR4 JE R O AR E—) AT 19.0 m 3,770 71,630
TR R U O AR AR a—F —Ry A 7.0 1 5,050 35,350
A L A1) dh ARl 7Y—TaAf 1k 2.0 1 240 480
Al_E A8 AR Daf vy SV T 7.0 & 80 560
A L A1) dh A Ty T 7.0 (& 60 420
A L A1) dh AT 24 F ARy 7 A (EIE T 6.0 (& 5,220 31,320
1FR4 JE R O ABE— )L BIY 2.0 m 5,000 10,000
Al_E A8 BRI a—J—Ry s A 1.0 18 5,360 5,360
A L A1) dh B 7wy 1.0 18l 90 90
AR R RO UAYTaT 8 (1UxA) 5.0 m 3,720 18,600




4 PR W FaS BB HAL i | 4 G

AL A TRF YT 1.0 1 220 220
Al L A3 )& dh Vafr by 1.0 i 90 90
[EESERYET ARV — Vi vy 1.0 1l 380 380
WmA= b CATOREEY 27—V vy 3.0 i 4,180 12,540
WmA= b CAT6XHGTEY 27—y X2 3.0 i 6,610 19,830
LTI/ CAT6/] 9.0 1 3,210 28,890
o T4 BEaT % ¢ 25 (RC D=150) 2.0 DT 9,170 18,340
o T4 BEaT % ¢ 28 (RC D=150) 2.0 DT 9,620 19,240
0 T4 BT 4% ¢ 38 (RC D=150) 1.0 N3] 9,620 9,620
4-7F 562,760
BEEEE]

R)T=F L —A7—7 v EM-EEF 1.6-2C (') 2.0 m 710 1,420
RYx=F Ly —Rr—7)L | BEM-EEF 1.6-2C (KFHH) 39.0 m 590 23,010
Ean o —7 v EM-BTIEE 0.4-2P (&/Y) 3.0 m 680 2,040
EanHr—7 v EM-BTIEE 0.4-2P (KH:H) 9.0 m 560 5,040
WA —7 L EM-AE 1.2-2C (%) 2.0 m 720 1,440
WA —7 L EM-AE 1.2-2C (KFH:P) 39.0 m 590 23,010
WA —7 L EM-AE 1.2-3C (KFH:P) 3.0 m 690 2,070
WA r—7 L EM-AE 1.2-4C (KFHP) 8.0 m 750 6,000
1FR4 JE R O ABE— )L BIY 2.0 m 5,000 10,000
A L A1) dh B L —x— 2.0 m 270 540
U 4 R U O AR BRI a—J)—Ry /A 1.0 18 5,360 5,360
DRSS =1 B 7Y —YaAfh 1.0 1 410 410
A L 1) dh B 7wy 1.0 (& 90 90
AL F R A (VE) HLA L{E ] 1.0 1 4,650 4,650
T UMy MRy 7 A (VE) WU ZRII) S —fFf 4.0 1 4,710 18,840
[ v BN EY 2T — Vv 1.0 (& 2,870 2,870
S1XR—=TL—h B m L 1.0 # 1,080 1,080
S1XR—=TL—h B m 2 1.0 # 1,330 1,330
T TH BEaT Hix ¢ 28 (RC D=150) 1.0 DT 9,620 9,620
WEAF— IRe S LU P A

AAGIRT R Bk 1.0 A 7,000 7,000
KIFHIAAE —H— 1.0 (& 11,900 11,900

No. 10



% PR W = o8B B B M &

TyT R 1.0 i 3,200 3,200
ZB R ARy Mg 1.0 1l 8,100 8,100
TLo R AR

B T 2.0 T 69,000 138,000
5-% 287,020
IPRESES LD

i IV 1.2 (&) 38.0 m 60 2,280
i IV 1.6 (&™) 13.0 m 60 780
i IV 2.0 (&) 65.0 m 70 4,550
r—>7)v VVF 1.6-2C (&) 2.0 m 80 160
r—>7)v VVF 1.6-2C (KHH) 11.0 m 60 660
=7 EBT 0.4-2P (& M) 8.0 m 80 640
=7 AE 1.2-2C (&) 2.0 m 90 180
P A (C 19) A EE 9.0 m 330 2,970
P A (C 25) BB 1.0 m 440 440
14 SR OF ABLE— L AT 2.0 m 440 880
BRI 2 11.0 1 630 6,930
HHAAA T 1P15A X1 2.0 & 510 1,020
HHAAA T 1P15A X 2+PL X 1 1.0 ] 1,020 1,020
HiAa b 2P15AX 1 (H 1k 7Y) 2.0 (& 510 1,020
HiAa b 2P15AX 2 3.0 (& 510 1,530
W LA — 1.0 1 770 770
Eah oo b EVaT—TUy v X2 1.0 & 750 750
GRS A FL20W X 1 1.0 5 1,230 1,230
THIER A BT LED32.5W X 1 2.0 5] 1,690 3,380
FAHA MR 1.0 5] 4,680 4,680
L BEET 6L 1.0 [i] 9,520 9,520
RISz (5% BEMI 10L 1.0 [i] 8,190 8,190
2B ARy M s 1.0 1 1,240 1,240
TETR AR M SN 2 1.0 1 1,240 1,240
6-5f 56,060
QOHEEIR Tt X —YE LF (BER) At 2,135,180

No. 11



No.

4 i o %O AT fi & m
|
@ fE MR s — Il T (HghR)
B Lg%
1 g akls T3

PCZ-DHRMPSOKA K 7

e — R 7 T oy (SRS L) 2.0 = 570,000 1,140,000
\MSZ-NXV3624S EBE 5

N—ATT AT gt — (FEd H ) 1.0 5 248,000 248,000

st & 1.0 = 200,000

KT SFFRRAA Ak I 1.0 = 40,400

e A 1.0 = 21,500

PER R 1.0 = 9,000
9.52(3/8B)

o B B S BN B 8.0 m 4,000 32,000
15.88(5/8B)

o B BN RS 8.0 m 6,000 48,000
6.35(1/4B) 9.52(3/8B)

W HBSRE T aA v BN =Sk 3.0 m 4,000 12,000
VP 20A

TR R b =V S 3.0 m 2,000 6,000
VP 25A

TR R b =V JEsvds 7.0 m 3,000 21,000
20A, 25A

NV 3.0 m 10,000 30,000
JBAEE

SRERALHE ATV ASHAR 11.0 m 9,620 105,820
IR B EIR

—UMES T 1.0 = 45,000
PEORR Ve R

THRMERTH 1.0 2" 42,800

HEG|X 1.0 2" 12,200

{4 =1 1.0 2" 33,800

KU KR 1.0 = 31,000

B 1.0 = 105,000

1-&f 2,183,520

2 BT

Ze— MY 7 I T A ES KB 2.0 “ 34,400 68,800

N=hIT T vt EE BE 1.0 =) 10,000 10,000

VI AR B B 74 e AR 1.0 2V 30,000

Bl EUNE LF 1.0 2V 40,000

MBI i 2 1.0 2V 20,000

N B 1.0 2V 26,700

VT IEn AR ALy TR 3L 1.0 2V 22,500

BEFEMLS TR 3L 1.0 X 31,500

T HAEE 1.0 =K 18,400

12



No.

4 s " g BB HAY fii & B
DI M 1.0 x 13,200
2-2} 281,100
@RS o — S TH () 5T 2,461,620

13



